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b) round the total of
a row to the nearest whaole
nuwmber.

1)

In a magic square
the sum of each row,

is the same.

2) Jodie walks 8.275km in the
morning and 6.185km in the
afternoon. How far has she
walked .altogether?

b) How many metres is this?

3) Ross has £82.26.
How much does he have left?

ralue know

He spends £43.89.

to addition .and

Reasoning

I} ) Explain the Mistakes

[0.47 +0.3= 0.50?

How Many Ways?

You have a pile of 0.1 and 0.01 counfers.

5)

Question 1:
How many ways can 0.42 be made?

0.01 Question 2:
How many ways can 0.24 be made?

0.1

6) Which Answer?
What is 53.48 to the nearest whole number?
(a) 54
(b) 53.5
(c) 53

7 ) A cup of tea and a biscuit costs £1.30,
A cup of tea costs 40p mere than a [h

s

Explain the mistakes.

biscuit.
AL, How much does a biscuit cost?

b.) Show the calculation.

L) Draw .a bhar model to
shom,
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b) rownd the total of
a row to the nearest whole
nuwmber.
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D)

In a magic square
the sum of each row,

is the same.

2) Jodie malks 8.27 5km in the
morning and 6.185km in the
afternoon. How far has she
walked altogether?

b) Homw many mebres is this?

3) Ross has £82.26.
How much does he have lefi?

ralue know

He spends £43.89.

Lo addition .and

Reasoning

L} ) Explain the Mistakes

[0.47 +03= o.so? 0.88 +0.22 =1

How Many Ways?

You have a pile of 0.1 and 0.01 counters.

5)

Question 1:
How many ways can 0.42 be made?

0.01 Question 2:
How many ways can 0.24 be made?

6) Which Answer?
What is 53.48 to the nearest whole number?
(a) 54
(b) 53.5
(c) 53

7 ) A cup of tea and a biscuit costs £1.30,
A ocup of tea costs 40p more than a [h

biscuit. e @
a’ How much does a biscuit cost? -

-b.) Show the calculation.

L) Drow .a bhar model to
show .

0.1

Explain the mistakes.




